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Directions—(Q. 61-65) In each of the following questionsoimr fout of the five figures, element
| is related to element Il in the same particulaaywFind out the figure in which the element | is
not so related to element II.
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Directions—{(Q. 66—70) In each of the following guestions, a related pair of figures iz followed by
five lettered pairs of figures. Select the pair that has a relationship similar to that in the unlettered
pair. The best answer is to be selected from a group of fairly cloze choices.
Studw the followms question—
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In this question element Il of unlettered figureatated to the element | of the figure in a certali
way. Element Il has one side more than the elemdime pair in the figure letter (E) has the
same relationship. Therefore, (E) is the answer

Now solve the following questions—
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Directions—(Q. 71-75) In each of the questions given beloighwdme of the five answer
figures on the right should come after the probfagares on the left, if the sequence were
continued.
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Question Figures Answer Figures
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Answers:
61. (C)
62. (E)
63. (B)
64. (D)
65. (B)
66. (B)
67. (A)
68. (C)
69. (D)
70. (E)
71. (B)
72. (C)
73. (A)
74. (D)
75. (E)
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